
hŶŝƚ�ϭ� WƌŽƉŽƌƚŝŽŶƐ� DĞĂƐƵƌĞŵĞŶƚ�ĂŶĚ��ŽŶǀĞƌƐŝŽŶƐ�

�ƐƐŝŐŶŵĞŶƚ� ,ĂŶĚŽƵƚ� YƵŝǌ�EĞǆƚ��ĂǇ͊�

�

EĂŵĞ͗�ͺͺͺͺͺͺͺͺͺͺͺͺͺͺͺͺͺͺͺͺͺͺͺͺͺͺ� � � � � � �ĂƚĞ͗�ͺͺͺͺͺͺͺͺͺͺͺͺͺͺͺͺͺͺͺ�

�

WƌŽƉŽƌƚŝŽŶ�

�

�

�

�ŽŵŵŽŶ��ǆĂŵƉůĞ�zŽƵ�ŐŽƚ�ͳ͸ ʹͲൗ �ŽŶ�ǇŽƵƌ�ŵĂƚŚ�ƚĞƐƚ͘��tŚĂƚ�ƉĞƌĐĞŶƚ�ŝƐ�ƚŚĂƚ͍�

�

�

�

�

�

�

�ŶŽƚŚĞƌ��ǆĂŵƉůĞ�zŽƵ�ŐŽƚ�ϳϰй�ŽŶ�ǇŽƵƌ�ƐĐŝĞŶĐĞ�ƚĞƐƚ�ƚŚĂƚ�ǁĂƐ�ŽƵƚ�ŽĨ�Ϯϱ͘��,Žǁ�ŵĂŶǇ�ŵĂƌŬƐ�ĚŝĚ�ǇŽƵ�ƌĞĐĞŝǀĞ�ŽŶ�
ǇŽƵƌ�ƚĞƐƚ͍�

�

�

�

�

�

�

�ŶŽƚŚĞƌ��ǆĂŵƉůĞ�zŽƵ�ƌĞĐĞŝǀĞĚ�ϯϬ�ŵĂƌŬƐ�ŽŶ�Ă�ƚĞƐƚ�ĂŶĚ�ŐŽƚ�ϳϱй͘��tŚĂƚ�ǁĂƐ�ƚŚĞ�ƚĞƐƚ�ŽƵƚ�ŽĨ͍�

�
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